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QUESTION 1

You have an XQuery automation plugin that performs several interactions with OSM, including searching for orders,
getting detailed order information based on search results, and deciding whether to suspend those orders or not. What
interface would you suggest to be used by this plugin in order to perform these interactions?

A. web service

B. OSM database

C. XML API

D. Task Web client

E. Order Management Web client

Correct Answer: C

QUESTION 2

OSM receives customer orders that request mobile lines and that contain three order items: one represents the mobile
service, the second represents the mobile terminal, and the last represents the mobile SIM card. These order items
have no reference between each other and must be provisioned independently on the network, such that they are
decomposed to generate three provisioning functions. Which analyzing the provisioning system, you realize that
provisioning of the SIM card order item must use some information available in the mobile service order item.

How would you provide the mobile service order item information to the function that is provisioning the SIM card order
item?

A. by adding the required order items to the task data of the function that is provisioning the SIM card
B. by using order item association and selecting order items with property correlation
C. by using order item association and selecting order items by matching the order component ID

D. by defining a new hierarchy in the order items specification and selecting it to be used for child completion
dependency

E. by adding a bundle to group all three order items

Correct Answer: D

QUESTION 3

In your OSM solution, you use an Oracle sealed cartridge, which contains a list of product classes with a
productClassMapping.xml file to map product classes to product specifications. With the evolution of your client\\'s
product catalog, new product classes have been included and you must now update the existing XML file that is in
production. What solution would you propose?

A. Unseal the existing cartridge, so that new product class entities can be added and the existing
productClassMapping.xml can be updated. Redeploy the cartridge and use the updated XML file for the product class to
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product specification mapping.

B. Create a new cartridge, including the existing and new product classes in it, so that a new productClassMapping.xml
file is generated. Deploy this cartridge and use its XML file for the product class to product specification mapping.

C. Create a new cartridge, including the new product classes in it, so that a new productClassMapping.xml file is
generated. Deploy this cartridge and use both the sealed and new XML files for the product class to product
specification mapping.

D. Create a new cartridge, including the new product classes in it, so that a new productClassMapping.xml file is
generated. Deploy this cartridge and use its XML file for the product class to product specification mapping.

E. Update the productClassMapping.xml file manually to include the new product classes and upload it to the existing
location of the old XML file. Use the new XML file for the product class to product specification mapping.

Correct Answer: D

QUESTION 4

You have configured the following process flow in your OSM. Identify two possible outcomes of this process.

Stlart

Is New Service
Required 7

v
1 “ {/

CrealeService ProvisionService

A. When the Join Type configuration of the Join element is set to ALL, the ProvisionService task will never be executed.
B. The Join Type configuration of the Join element must be set to ALL for the process to execute correctly.

C. The Join element can be eliminated from the process and the same logic can be implemented with the remaining
elements.

D. The "Is New Service Required?" element can have as many exit flows as needed, if the use case logic requires it.
E. There would be an error if the "Next" transition is substituted by a transition without status.

Correct Answer: AD
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QUESTION 5

Which two functions are available in the XML Import/Export tool that you could use when developing with OSM?
A. import and export of metadata

B. deployment of cartridges to Oracle WebLogic Server

C. change in the severity of log levels

D. configuration of WebLogic resources

E. purging of metadata and order data

Correct Answer: AE

Reference https://docs.oracle.com/cd/E35413_01/doc.722/e35414/adm_xmlie_tool.htm#autoldO
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